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QUESTION 1

Given the information below, which node would be used to produce the correlation statistic between the fields off
peak_calls and weekend_calls?

Field _ Measurement Yalues
[A] handset @> Nominal ASADATO,..
[A] churn @ Flzg Crurnedr...
& peak_calls & Continuous [0.0,1725.0]
{&} peAak_mins éf;’ Continnnns [ 2am
'5.'@ offpeak_calls @9’ Continuous [0.0 647 0]
#» offpeak_mins & Continuous [0.0,1146.0]
‘3.@ weekend_calls @5’ Continuous [0.0,124.0]
'5.'@} weekend_mins ﬁ’ Continuous [0.0,205.0]
Z&@% intarnatinnal mine A2 Cantinunne madn4a4

A. Matrix node

B. Statistics node
C. Histogram node
D. Means node

Correct Answer: B

QUESTION 2

Auto checking for invalid values can be done on the Type tab in any Source node.
A. True

B. False

Correct Answer: A

QUESTION 3

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level?
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A A

Distribution

Web

Piot

C D A
Histogram

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 4

The Matrix node is used to examine the relationship between two categorical fields.
A. True

B. False

Correct Answer: A

QUESTION 5
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Which node can be used to easily generate a field that divides the data into subsamples for the Training and Testing
stages of modeling?

A. Sample
B. Filler

C. Balance
D. Partition

Correct Answer: D
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